1.  A pair of Bauer Vapor XXX hockey skates and an Easton Synergy hockey stick cost $550.  The stick is $50 dollars less than one half of the cost of the skates.  How much do the skates and stick cost?
2.  During a baseball game, one team only had 2 run and 4 run innings.  If the game was 9 innings and the total score was 22, how many 2 run innings and 4 run innings did the team have?

3. Fred shot 300 basketball shots in a season.  He scored 743 points in the season.  How many of the shots were 2 pointers and how many were 3 pointers?

4.  Juan swam a certain number of laps in 40 minutes.  He swam 5 less than 8 times as many laps of butterfly as he swam backstroke.  How many laps of fly did he swim?

5.  The shoes and dress Mai-Yin bought came out to be $462.  Three times the cost of the shoes is $54 less than two times the cost of the dress.  How much were the dress and shoes separately?  

6.  One number is 8 less than 3 times another.  The numbers add up to 12.  What are the two numbers?  

7.  Mrs. Cassidy purchased a plethora of converse shoes (some pink and some green).  She paid $620 in total for 12 pairs of shoes.  If the pink shoes cost $50 and the green shoes cost $55, how many of each did she purchase?
8.  The Pingry Field Hockey team played 18 games.  The number of wins is six more than 3 times the number of losses.  How many wins and losses did they have?

9.  Emily, Fatima, Julian and Austin went to see Mrs. Cassidy for extra help.  She gave them forty questions to do.  The boys, being the smooth gentlemen that they are, offered to do more of the problems.  After checking the answers, Jillian and Craig yelled "Eureka!  Double the amount the boys did added to the amount the girls did is the total number of students in our class squared.  (There are 8 students in our class).  How many problems did the girls do?  
10.  Two snowboards cost $1200.  $300 less than twice the first is the price of the second snowboard.  How much do they each cost?  
11. The sum of two numbers is 42. The smaller number equals ten times the quantity of 13 minus half the bigger number.
12.  A hockey player has 9 sticks.  He broke all the sticks.  One third of the sticks were broken on the ice and the rest were broken over other players helmets.  How many sticks were broken in each way?

13.  Maggie brought ½ of the cans in her house for Naz's can drive and 1/3 of her candy from Halloween for the Candy is Dandy drive for a total of 45 items.  Before she took them to school, there were 35 more pieces of candy than cans.  How many of each were there originally?
14.  Charlie bought tennis balls and baseballs and got 31 total.  Tennis balls cost $1 each and baseballs cost 

$2 each.  All together he spent $42.  How many of each did he buy?  

15.  On Halloween, Susie went to 53 houses.  She received a total of 97 pieces of candy.  Each house gave out either 1 piece or 3 pieces of candy.  How many houses gave Susie 3 pieces and how many gave her 1?

16.  Coach Fahey decided to purchase under armours for the boys varsity soccer team.  He bought a total of 25 under armours for the players.  The white under armours he bought with the Pingry seal were $42 each and the blue under armours he bought with the Pingry seal were $46 each.  If he paid a total of $1110, how many of each did he buy?

17.  Susan received a total of 5 grades on her math tests for the semester.  Three of her grades were identical and 5 points higher than her two lower grades (also identical).  Her average for the semester was 88%.  What were her grades?

18.  Ashley was buying party favors for her sweet 16.  She had 113 guests in total.  She wanted to get the boys each a t-shirt for $3 a piece and each girl a pair of short for $4 a pair.  Her total purchase was $388.  How many boys are going to the party?  How many girls?

19.  The total number of ballots cast in the presidential election in Martinsville was 10,000.  John Kerry received more votes than George Bush, and the difference between the number of votes each received is the quotient of the total number of votes divided by 50.  How many votes did each candidate receive?  

20.  Liz went shopping and spent a total of $312 for a total of nine pieces o clothing.  If each shirt costs $24.50 and each skirt costs $55.00, how many of each did Liz buy?  

21.  Alex just got her allowance from her parents and decided to go shopping at the mall.  She bought a total of 7 shirts, some from Polo and some from Abercrombie.  The Polo shorts each cost $60 and the Abercrombie shirts each cost $30 for a total of $300.  How many of each shirt did she buy?

22.  It takes 27 minutes to finish a 3 person Scrabble game.  It takes 49 minutes to finish a 4 person game.  If a total number of 16 games were played in a 542 minute period, how many of each type of game were there?  

23.  Together, Caroline and Ije got $350 in birthday money.  They put it in the bank.  With an annual interest rate of 10%, the combined interest after 3 years was $45 less than Caroline's original money.  How much  money did Caroline and Ije receive?

24.  

25.  Billy needed to make cookies for his whole class for his birthday.  His two favorite cookies are sugar cookies and chocolate chip cookies.  The sum of the costs for one tube of cookie dough of each kind is $12.  Since he likes chocolate chip cookies more than sugar cookies, Billy bought 8 tubes of sugar cookie dough and 10 rolls of chocolate chip cookie dough for a total of $106.  How much did each tube cost?

26.  Ben Mackoff's collar is "popped".  When fully popped, Ben's collar (in inches) and John Soo Hoo's unpopped collar total 6 inches.  Ben's collar is 1 inch more than twice the height of John's.  How tall is Ben's popped collar?  Also, although not necessary to solve this problem, Ben's navy shirt and brown pants make an excellent autumn combination.  
27.  Zach and Jeff are the Pingry Soccer Team's 2 leading scorers.   Together they have scored all of Pingry's 100 goals this season.  Zach has 4 more than 3 times the amount of goals that Jeff has scored.  How many goals have they each scored this year?  

28.  Martha invests a “very small amount of money” into a fortune 500 company (X). She also invests the rest of her fortune into #36 on the Forbes’ 500 List (Y). Strangely enough, this “very small amount of money” was larger than the rest of her fortune. If her Enron (X) stock made 60%, and her Halliburton (Y) stock made 40%, and she made $6,400 profit, and if she had reversed her investments, she would have made $205 less than that, how much money did she invest?

29.  The sum of the reciprocals of 2 numbers is 5/6.  The reciprocal of the smaller number exceeds the reciprocal of the larger number by 1/6.  Find the number.  
30.  In an ice cream shop in New York business was booming.  People were especially keen on buying ice cream on Tuesdays.  For the Big Caramba sale, Suzy visited the shop on a Tuesday.   She was told that she would have to buy a cone separately from a scoop of ice cream.  If 6 scoops of ice cream and 7 cones cost $20.45 and the reverse quantities cost $21.15, how much does each cone and scoop of ice cream cost?  

31.  In one day Dr. Feinberg pulled out 35 teeth.  Wisdom teeth cost $25 to be pulled.  Baby teeth cost $20 to be pulled.  She earned $800 that day pulling teeth.  How many wisdom teeth and how many baby teeth were pulled? 

32.  My mom bought 12 bags of candy, 4 of Bottle-caps and 8 of Yorks for Halloween.  She spent $23.20 in total for the candy.  How much did an individual bag cost of each?   

33.  A businessman invests $1200.  In invests in a CD at 4% interest and a bond at 20% interest.  His profits for the CD and the bond are equal.  How many dollars did he invest in the CD?  How many dollars did he invest in the bond?  

34.  In the 2004 election, a region with 20 million voters elects Senator Kerry to be the next president.  George W. Bush received 500,000 more than two-thirds of the vote Kerry received.  How many votes did each candidate receive?  

35.  A boy buys basketballs and soccer balls.  A soccer ball costs $10 and a basketball costs $15 dollars.  He bought 10 balls for $120.  How many of each type did he buy?  

36.  On the night of the election, the results of who won how many states is announced.  John Kerry and George bush combine to win all 51 states (including Washington DC).  One third of the number of states won by Kerry is equal to three more than one quarter the number of state won by Bush.  How many states did each candidate win?  
37.  Mt. Reich opened on December 1st.  On opening day the ticket booth sold 500 lift tickets.  Each child ticket costs $30 and each adult ticket cost $50.  The ticket booth took in a total of $21.500.  How many adult tickets did Mt. Reich sell?  

38.  Two friends are playing tennis.  If one person served 54 miles faster per hour, it would be two times the speed of the other person's serve.  The sum of their serves is 174 mph.  How fast is each person's serve?  

39.  Trem goes to Martinsville Dunkin Donuts and buys every donut in stock at 50 cents per donut.  Not satisfied, he drives to Morristown Krispy Kremes and buys every donut there for $1 each.  In one month as JV soccer coach, Trem makes $3900.  He spends one twelfth of this on coffee and one twelfth on taxes.  He spends open fifth of his remaining money on this donut expedition.  How many donuts does he purchase from each store if he ends up with 1052 donuts in the back of his car?  

40.  Katherine and Nicole are on the soccer team together.  At the end of the season the number of goals that they have scored together is 21.  During the season Nicole scored 3 more than 2 times the number of goals that Katherine scored.  How many goals did each girl score?  

41.  The Giants scored 6 times and the Eagle scored 5 times.  5 touchdowns (7 points each) and 6 field goals (3 points each) were scored for a total of 53 points.  The giants won, 34 to 19.  How many touchdowns and field goals did each team score?  

42.  A hockey pro-shop is selling pairs of hockey skates, the Vapor 30's and the Vapor 20's.  In the last week, the pro shop sold 10 pairs of skates for a total of $3300 dollars.  How many of each skate was sold?  

43.  In a certain cheerleading tournament, it is required to have 14 stunts.  The Pingry team composes their stunts solely of pyramids and basket tosses.  If the team has two more than twice as many pyramids as basket tosses, how many pyramids and how many basket tosses did the team execute at the competition?  

ANSWERS

1.   Skates = $400; stick = $150

2.  2 run innings = 7; 4 run innings = 2

3.  2 pointers = 157; 3 pointers = 143

4.  35 laps fly; 5 laps back

5.  Shoes = $174; Dress =$288

6.  7 and 5
7.  pink = 8; green = 4

8.  15 wins; 3 losses

9.  16 problems

10.  $500 and $700

11.  22, 20

12.  3 on ice; 6 over helmets

13.  40 cans and 75 pieces of candy.

14.  11 baseballs and 20 tennis balls.

15.  22 houses gave 3 candies and 31 houses gave one candy.

16.  10 white and 15 blue

17.  
18.  

19.  5100 for Kerry; 4900 for Bush

20.  3 skirts and 6 shirts
21.  3 Polo shirts and 4 Abercrombie shirts

22.  5 4-person games and 11 3-person games.

23.  Caroline = $150; Ije = $200

24.

25.  Sugar = $7 each; chocolate chip = $2 each

26.  Ben's collar = 3.5"; John's collar = 2.5"

27.  Jeff = 24; Zach = 76

28. X= 6,810   Y= 5,785

29.  3 and 2

30.  cone = $1.25; scoop - $1.95

31.  Wisdom = $20; baby teeth = $15

32.  York = $2.15; Bottle-caps - $1.50

33.  $200 invested in the bond; $1000 invested in CD

34.  Kerry received 11.7 million; Bush received 8.3 million

35.  6 soccer balls and 4 basketballs.

36.  Kerry = 27 states; Bush = 24 states

37.  Mt. Reich sold 325 adult tickets

38.  98 mph and 76 mph

39.  804 from Dunkin Donuts and 248 from Krispy Kremes

40.  Katherine scored 6 goals and Nicole scored 15 goals.

41.  4 touchdowns and 2 field goals

42.  3 Vapor 30's and 7 Vapor 20's

43.  4 basket tosses and 10 pyramids
